

A note on the approximation of divisor functions

József Sándor 

Department of Mathematics, Babeş-Bolyai University,

Cluj, Romania

e-mail: jsandor@math.ubbcluj.ro

Received: 10 December 2024

Accepted: 3 April 2025

Online First: 5 April 2025

Abstract: We offer an arithmetic proof of a result from the recent paper [1]. A more general result is provided, too.

Keywords: Arithmetic functions, Legendre’s theorem, Inequalities for real functions.

2020 Mathematics Subject Classification: 11A25, 11N37, 26A06, 26D15.

1 Introduction

For a positive integer $m \geq 1$, and a real number α , the divisor functions of m are defined by

$$\sigma_{\alpha}(m) = \sum_{d|m} d^{\alpha},$$

where d runs through all positive divisors of m . In a recent paper [1], by using interesting, but complicated analytical arguments, the authors prove the following theorem:

Theorem 1. *One has the following limit:*

$$\lim_{m \rightarrow \infty} \frac{\sigma_{\alpha}(m!)}{(m!)^{\alpha}} = \zeta(\alpha), \quad (1)$$

where

$$\zeta(s) = \sum_{k=1}^{\infty} \frac{1}{k^s} \quad (s > 1)$$



is the Riemann zeta function of real arguments. As clearly

$$\sigma_\alpha(m) = \sum_{d|m} \left(\frac{m}{d}\right)^\alpha = m^\alpha \cdot \sum_{d|m} \frac{1}{d^\alpha} \leq m^\alpha \cdot \zeta(\alpha),$$

one has $\sigma_\alpha(m)/m^\alpha \leq \zeta(\alpha)$, and by (1) we obtain a new proof of a classical result by Grönwall [2], that

$$\limsup_{m \rightarrow \infty} \frac{\sigma_\alpha(m)}{m^\alpha} = \zeta(\alpha). \quad (2)$$

In what follows, we will obtain a simple proof of (1), based on Legendre's classical formula for the prime factorizations of $m!$, combined with some elementary inequalities of real analysis.

2 Auxiliary results

Lemma 1 (Legendre). *Let $\gamma_p(m)$ be the exponent of the prime p in the prime factorization of $m!$. Then*

$$\gamma_p(m) = \sum_{j=1}^{\infty} \left[\frac{m}{p^j} \right],$$

where $[x]$ denotes the integer part of x .

For a proof of this classical result, see e.g. [3].

Lemma 2 (Euler). *One has the identity*

$$\zeta(s) = \prod_{p \text{ prime}} \frac{1}{1 - p^{-s}} \quad (3)$$

This is another classical result, see [3].

Lemma 3. *For any real number $0 < x \leq \frac{1}{4}$ one has*

$$\log(1 - x) > -\frac{4}{3}x. \quad (4)$$

Proof. Let $f(x) = \log(1 - x) + \frac{4}{3}x$, $x \in [0, \frac{1}{4}]$. Then $f'(x) = \frac{1 - 4x}{3(1 - x)} \geq 0$, so the function f is strictly increasing, implying that $f(x) > f(0) = 0$, so relation (4) follows. \square

Lemma 4. *Let p denote a prime number, and let $a > 1$. Then*

$$\sum_{a < p \leq m} \frac{1}{p^2} < \frac{1}{a}. \quad (5)$$

Proof. One has

$$\sum_{a < p \leq m} \frac{1}{p^2} < \sum_{p > a} \frac{1}{p^2} < \int_a^{+\infty} \frac{dt}{t^2} = \frac{1}{a},$$

so inequality (5) follows. \square

Lemma 5.

$$\lim_{s \rightarrow \infty} \zeta(s) = 1. \quad (6)$$

Proof. Clearly

$$1 < \zeta(s) \leq 1 + \frac{1}{2^s} + \int_2^\infty \frac{1}{t^s} dt = 1 + \frac{1}{2^s} + \frac{1}{2^{s-1} \cdot (s-1)},$$

so by letting $s \rightarrow \infty$, relation (6) follows. \square

3 Proof of Theorem 1

For any prime power p^r , we have

$$\sigma_\alpha(p^r) = 1 + p^r + \cdots + p^{r\alpha} = \frac{p^{(r+1)\alpha} - 1}{p^\alpha - 1} = p^{r\alpha} \cdot \frac{1 - \frac{1}{p^{(r+1)\alpha}}}{1 - \frac{1}{p^\alpha}},$$

so by the multiplicativity of the function σ_α one has

$$\begin{aligned} \sigma_\alpha(m!) &= \prod_{p \leq m} \left[p^{\gamma_p(m)\alpha} \cdot \frac{1 - \frac{1}{p^{(\gamma_p(m)+1)\alpha}}}{1 - \frac{1}{p^\alpha}} \right] \\ &= \frac{m!^\alpha}{\prod_{p \leq m} \left(1 - \frac{1}{p^\alpha}\right)} \cdot \prod_{p \leq m} \left(1 - \frac{1}{p^{(\gamma_p(m)+1)\alpha}}\right), \end{aligned} \quad (7)$$

where we have used Lemma 1. Thus

$$\frac{\sigma_\alpha(m!)}{m!^\alpha} = \prod_{p \leq m} \frac{1}{1 - p^{-\alpha}} \cdot A(m),$$

where

$$A(m) = \prod_{p \leq m} \left(1 - \frac{1}{p^{(\gamma_p(m)+1)\alpha}}\right).$$

Thus by Lemma 2, in order to prove Theorem 1, one has to show that

$$\lim_{m \rightarrow \infty} A(m) = 1. \quad (8)$$

As

$$A(m) > \prod_{p \leq m} \left(1 - \frac{1}{p^{\gamma_p(m)+1}}\right) = A_1(m),$$

and $A_1(m) < 1$, it will be sufficient to consider $A_1(m)$.

Let now write $A_1(m)$ as $A_1(m) = B(m) \cdot C(m)$, where

$$B(m) = \prod_{p \leq a} \left(1 - \frac{1}{p^{\gamma_p(m)+1}}\right) \quad (9)$$

and

$$C(m) = \prod_{a < p \leq m} \left(1 - \frac{1}{p^{\gamma_p(m)+1}}\right) \quad (10)$$

We will select a so that, when $m \rightarrow \infty$, then $a \rightarrow \infty$. Put $a = \frac{m}{k}$. First, remark that in $B(m)$, since $\gamma_p(m) \geq \left[\frac{m}{p}\right] \geq k$ (by Lemma 1), one has $\gamma_p(m) + 1 \geq k + 1$, so

$$B(m) \geq \prod_{p \leq m/k} \left(1 - \frac{1}{p^{k+1}}\right) > \prod_{p \text{ prime}} \left(1 - \frac{1}{p^{k+1}}\right) = \frac{1}{\zeta(k+1)}.$$

Let e.g. $k = \lfloor \sqrt{m} \rfloor \rightarrow \infty$, when $m \rightarrow \infty$. Then clearly, by $1 > B(m) > \frac{1}{\zeta(k+1)}$, we get $\lim_{m \rightarrow \infty} B(m) = 1$, by Lemma 5.

Now, for $C(m)$, remark that

$$C(m) \geq \prod_{m/k < p \leq m} \left(1 - \frac{1}{p^2}\right),$$

only by Lemma 3 (applied to $x = \frac{1}{p^2} \leq \frac{1}{4}$),

$$C(m) \geq \exp \left\{ \sum_{m/k < p \leq m} \log \left(1 - \frac{1}{p^2}\right) \right\} > \exp \left\{ -\frac{4}{3} \cdot \sum_{m/k < p \leq m} \frac{1}{p^2} \right\} > \exp \left\{ -\frac{4}{3} \cdot \frac{k}{m} \right\},$$

by Lemma 4. Thus $\exp \left\{ -\frac{4}{3} \cdot \frac{k}{m} \right\} < C(m) < 1$, and $\frac{k}{m} \rightarrow 0$, as $m \rightarrow \infty$, so we get $\lim_{m \rightarrow \infty} C(m) = 1$.

Thus, finally, relation (8) is proved.

The above proof shows that, the following generalization of Theorem 1 holds true.

Theorem 2.

$$\lim_{m \rightarrow \infty} \frac{\sigma_\alpha((m!)^t)}{(m!)^{t\alpha}} = \zeta(t\alpha), \quad (11)$$

for any positive integer $t \geq 1$.

The proof of this generalization is similar, and we omit the details.

References

- [1] De Carli, L., Echezabal, A., & Laporta, M. (2024). Approximating the divisor functions. *The Journal of Analysis*, 32, 2503–2512.
- [2] Grönwall, T. H. (1913). Some asymptotic expressions in the theory of numbers. *Transactions of the American Mathematical Society*, 14, 113–122.
- [3] Hardy, G. H., & Wright, E. M. (1979). *An Introduction to the Theory of Numbers* (5th ed.). Oxford University Press, Oxford.